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| PEXYLOT = 37,8586 | 4IRS ET = 5,/83
2| LS/ X7 E = S5, 5LE 2| 4T XES = Ly 555
il L7 EXIL= 5,53 i XS/ 7 = LE L/ S
c| SO4X/3 = 6,552 vl LIXERLO = /5,080
s | VTT7XLE S/ = L/3637 s TLRLEXTZS = 685,878
s | DYUXFET = SL,7 46 6| &6/ EXTO = 43,260
| §O0LXEH = 67,3668 | EEXTEL = g,/ 76
sl SOXET S = L6,8580 | /S EXESSE = /0,548
| TLLXET = YL,578 vl SRS XYES = 5,203
0| FHLEXLSE = LE,4ES w| 67XEL/ = 56,647
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n W =

/9T x4 = 4,728 77 Ix32 = 24,864
S| 73IXE30 = 38,690 a| S/ 4x40-= 20,540
| E/x9E/ = 79,446/ | 889X S = 58,674
| 6IXEQL = 56,7/8 | REIOXE Y - /9,320
| 3EX/ 52 - 5,776 |/ /x660= 7,260
| 4Ex482-= 23,/ 36 | 2é6x840- /Y4040
| 9/2x99 = 90,288 | E9xp34- 43,306
| ROX308 - 4,/ 00 il 98%X202 - /9,796
| S/ Ex 4= /Y, | 43972 - 3/,608
0| 32IXE S - /7,768 w| O7XYI = 29,743
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n W =

| sEx27a- 23,/ 20 ARV E 50,085
S| #460%x92-= 42,320 a| 7EXEQD = 48,5/ 6
| 3885%x7 /= 25,978 | T2UXES = 4/,992
| /X YLET = /Y22 | 0%/ 96 - 5,880
| ETAXI S = 30,520 il 93/ %30 = 27,930
| 4rx562- 26,4/ 4 | SEx987 = /5,372
| 086 x 47 = 28,482 | S 99IXLY = 4,776
| /X359 = 7,539 | 9/xET /= 79,26/
| 237 x &/ = S YA Al E7x989 = 56,373
| TOUXES = 58,432 w| 560%x/9 = /0,640
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n W =

| 37 xER-= 20,9/ 4 ol 3ExE8 6= 20,570
S| EEx404 - 4,340 a| 4OXE3E = 33,400
| 593x7 /= 42,/03 | 4 Ex 49 = 20,5384
| &9Yx50-= 44,700 | 63%x4968 = 43,974
| QU7 x37 = 2,/ 39 | b/ TIxET = 385,/69
| 9REx /4= /2,980 | S 4Yx24 = 3,744
| 7EXS4E = 27,/ 44 | 9EXTRS - 68,685
| SEXI6 = /6,648 | 4Ix74S - 32,/ 64
| 27 x/06 = 2,862 | EEX27 6 - )5,/ 25
| 798x68 = 5/,870 w| §/0X9E = 79,380
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n W =

|3/ %909 - 28,/ 79 | 496%x80 = 39,680
| &I xEYYy - 47,589 | S IXR0E = 2,288
| 66x343 = 23,988 | 40x638 = 25,400
| 4T = 22,9/ 4 il S0ExT 9= 8,37 4
| 96x/02- 9,792 | E79XE9 = 57,83/
| RE4x /&= Y544 | QIXEI 4 = 25,926
| 766x854 = 42,896 | 4IXYET = /9,737
| 603X = 20,502 | 7 /x787 = 585,877
| 85/ Ex968 = 50,470 | 902x22 = /9,844
| SUXLYS = /3,284 w| &7YXY/ = 35,834
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n W =

| &/ Ix 4= 52,032 | 93xE4 S = 78,585
S| SaAx989 = 57,428 | S6OXT /= / /360
| REEXEH = 23,940 | 90x64 /= 57,690
ARV 23,229 | 4AXY4O0S = /7,736
S 33ax33 - /0,956 | 44/ x5 = 6,6/ %
| x4 - 58,824 | /3IXEEQ = 7,566
| &/ x4 = 25,05/ | 7Ré6x99 = 77,874
| 969x29 = 28,/ 0/ | 85/ 7x60 = 3/,020
| dax92/ - 29,472 | 67 6xE /= UMY S
| 64x/0/ = b 464 v 2IX3I23E = 9,367
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n W =

| E24x98 - §0,7 %2 | S0x &4/ = 32,050
| 389x/ 8= 7,002 | bEx Y49 = 29,634
| 9Ux9 /3= 55,822 ol EQ2EX34 = /7,880
| 609X 3= Y4457 il QEXEQLS = /3,075
| 938%x80 = 785,040 | 4EIXET = 42,987
| sEXET Y= /5,732 | 7Ex77 6 = 58,976
| 4éx38/ = /7,526 | SUXLYS - 8§ 432
| REEXHES = /2,84 | 620x28 = /5,500
| S/x/R26E = 4,528 | 734x58 = 42,572
| /I ExE 9 = 8,004 v §IX32/ = 26,643
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| S4T7 X856 = 50,63L vl §OXT7E5S = 76,40
2| L/STXTT = VAN 2| 87/ XEHL = 585,744
il PR XELS = 57,603 i EAXYEL S S = LE LT L
i LEOXT L= L3,7 L0 | 4LEXTEEL = YL4L,370
s | THEXE T Y = 55,8536 s SLEXLO = /S5/ L0
| 677 XET = 62,033 | LT7OX/ /= 5,/ 70
| TT7XET /= 5/,667 7 T XLLE = L0y T L
s | SU4X/ LY = 4,2/ 6 |l L/XIT /= 7577/
| S EXESLEL = /5,576 | S HELXIL = Y, 544
wl| K/ X777 = 37,77 w| 77 I7XLE = L/ 38/ L
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| ST x 48 = 29,548 | SUX 43 = / 2,0/ 2
c| #43%x229 = 2,847 | 976%x73 = 7/ 248
| TS84 = 284/ 6 | 3/ EX96 = 30,240
| QEIX/ 54 = 32,588 | 4EOX3Y = /4,650
| 98x942- 92,3/ 6 | S EXYYY = 8,082
| s3xs02-= 26,606 | 72EXE0 = 58,000
| s20x67 = 4,840 | SIS Y= /806
| bEXTES = 49,/ 40 | 30%x627 = /8,870
| 3aAxE36 - 26,752 | E34UXES = 46,704
| QEEXLE = 6,375 w| 75LXES = 62,748
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| 9s9x2/ = /9,299 o 96X 42 - 20,432
S| 42/ %8668 = 28,628 pl 353x3/ = /0,943
| 69770 = 48,790 il 2ax376 = 8,27 2
| 4ax/EE = 7,770 | EQYUXH4 = 34,608
| 7EXY4EQ = 35,256 | 09%/ 6= 8§,/ 44
| §885x287 = 24,398 | 67X 69 5 - 46,565
| S3x /G = /508 | REIOXE# = /9,320
| 48/ x99 = 47,6/ 9 | T4EXT 3= 54,604
| 39x725 - 28,278 ol S0X8E93 = 29,650
| SEXELE = 46,640 w| JET7XET = 9,85/ 9

ZOTI> NE. SDAEBYA [https://printchan.com] KDERITHY D> O— RTEEY

5020-0255-0010



